Distribution of heart by BY Group
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gender | Method N Mean| Std Dev| Std Err Minimum| Maximum
1 65 73.3692)  5.8752) 0.7287 58.0000 86.0000
2 65 74.1538  8.1052] 1.0053 57.0000 89.0000
Diff (1-2) [Pooled -0.7846/  7.0786] 1.2417,
Diff (1-2) [Satterthwaite -0.7846 1.2417
gender  Method Mean 95% CL Mean | Std Dev| 95% CL Std
Dev
1 73.3692) 71.9134] 74.8250] 5.8752 5.0103] 7.1038
2 74.1538) 72.1455 76.1622)  8.1052| 6.9120 9.8003
Diff (1-2) Pooled -0.7846| -3.2415 1.6722)  7.0786) 6.3075 8.0661
Diff (1-2) [Satterthwaite | -0.7846| -3.2437 1.6745




Method Variances DF t Value Pr> |t|

Pooled Equal

128 -0.63] 0.5286

Satterthwaite |Unequal 116.7 -0.63| 0.5287

Equality of Variances

Method Num DF

Den DF| F Value Pr > F

Folded F 64

64 1.90, 0.0110
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Distribution of heart
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